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'SECTION-I : CHILD PSYCHOLOGY AND DEVELOPMENT, PEDAGOGY,
TEACHING LEARNING PROCESSES
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1.

The word ‘psychology” has originated from the
word :

(A) Logus

(B) Psycho .

(C) Psycho and Logus

(D) None of these

Intelligence is the ability :

(A) To learn

(B) To adjust oneself to new situations
(C) To think in terms of ideas '
(D) All of the above

Extroverts are :
(A) Social and friendly

(B) Tension free

(C) Both (A)and (B)
(D) None of these

Personality has been derived from the word :
(A) Personal

(B) Persona

(C) Person

+ (D) Personnel

The guestionnaire was invented by :
(A) John W Best

(B) Francis Glatone

{(C) 1.C. Agarwal

(D) Stanley and Hopkins

Which of the following is a personality

. disorder?

(A) Srch_izophrenia
(B) Generalized anxiety disorder
(C) Dyslexia
{D}) None of the above
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11.

12.

According to John B. Watsoh, psychology is the
study of :

(A} The mind

(B) Conscious experience

{C) Mental Siate

(D) Behaviour

An ideal teacher should concentrate

" (A) On teaching methods

{B) On the subject being taught
{C) On students and their behaviour
(D) All of these

“Education is manifestation of perfection already
present in Man” who said this:

{(A) Vivekanand

(B) Aristotle

(C) James

{D) Dayanand

The over protected child will lead to display :
{A) Aggressiveness

(B} Defensiveness

{C) Negativism

(D) Inmmaturity

Who among the following has given the eight
conditions of learning?

(A) Robert Glaser

{B) Robert M. Gagne

(C) LK. Devices

(D) B.F. Skinner

The qualitative changes in organism which are

not induced by learning are called:

(A) Imprinting

(B) Iustincts
(C) Maturation
(D} Development
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17.

Who developed a system of learning known as
programmed learning? '

(A) Pavlov

(B) Skinner

(C) Thomdike

(D) Guthrie

Out of the following Which one is the
reflection of meaningful learming?

(A) The ability to recall as and when needed
(B) A high degree of retention

(C) A good score in examination

(D) The capability of transferring/using

learning in different situation

The Rorschach Inkblot Test is used to assess:
(A) Emotional state of an individual

(B) Intelligence level of an individual

(C) Personality traits of an individual

(D) Creative abilities of an individual

The evaluation of personality is best made
through thé use of :

(A) Power test

(B) Projective test

(C) Preference test

(D) Survey test

Who is the father of Experimental?sycholo gy?
(A) Bormng

(B) Hull .

(C) Wundt

(D) Tolman
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19.

20.

21.

23.

The oldest method in psychology is :
(A) Introspection

(B) Observation

{C) Case-study

{D) Clinical method

The first book on Psychology titled “Principal
Psychology™ was published in the year ?

(A) 1879 '

(B) 1893

(C) 1890

(D) 1905

Which is the age in which a child laughs less and
smiles more i.e. he has learnt to control his
emoiions?

{A) Babyhood

{BY Early Childhood

{C) Later Childhood

(D) Adolescence

What kind of learning stems from observation
of the consequences of an action?

{A) Classical conditioning

(B) Primary conditioning

{C) Operant conditioning

(D) Secondary conditioning

Kohlar developed :

{A) S-R bond theory
(B) Insight theory

(C) Field theory

(D) Conditioning theory

MMPI is associated with :
{A) Intelligence

(B) Creativity

(C) Personality

s (D) Mental age
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24.

25.

26.

27.

28.

A child in school is called a problem child when:

(A) Heis able to solve the problems of other
children

(B) He suggests useful approaches to teachers-

when they are explaining any problem

« (C) He behaves in such a way that becomes a

problem for the teacher to understand him
(D) He is very resourceful in suggesting good

problems for the class to workout

Defense mechanisms are used to protect the :
(A} Ego consciously
(B) Id unconsciously

+ (C) Supereg,o unconscizously

(D) Ego unconsciously

Punishmentisa:
(A) Negative reinforcement
(B) Positive reinforcement

* {C) Not areinforcement at all
(D) None of the above

For conducting research in group dynamics, .
which of the following techniques can be used?
(A) Biometry '
(B) Sociometry

(C) Anthropometry

(D) Geometry

A class teacher administered Thematic
Apperception Test to a group of students to as-
sess their : |

* (A) Awareness
(B) Athievement
(C) Attitude
(D) Personality
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29.  The causes of individual differences are always:
(A) Hereditary
1B) Social and Economic
1C) Emotional and Personal
~1D) Environmental and Hereditary

30 The son of a doctor becomes an expert doctor.
It 1s an example of :
-~ 1) Biological heredity
tB) Social heradity
iC1 Transfer of Instinct
1D None of these
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SECTION-II : GENERAL AWARENESS INCLUDING HIMACHAL PRADESH
CURRENT AFFAIRS & ENVIRONMENTAL STUDIES
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How many seats are there in Lok Sabha from
Himachal ?

(A) 3 Three

(B) 4 Four

(C) 5 Five

(D) 68Six

What is the percentage of land under forest in
Himachal?

(A) 19%

(B) 29%

(C) 39%

(D) 49%

“Where is the highest post office situated in

Himachal?

(A) Hidimba (Manali)
(B) Hikkim {Spiti)
(C) Hatsar (Bharmaur)
(D) Karsog (Mandi)

Famous Lake Chander Nahan is situated in which
district?

(A) Lahaul Spiti

(B) Chamba

(C) Shimla

(D) Kinnaur

Who was the first Independent Member of Lok
Sabha elected from Himachal Pradesh?

(A) Sh Ganga Ram

(B) Sh Maheshwar Singh

{(C) Sh Aanand Chand

(D) Sh Pandit Sukh Ram

Where is “The GreatHimalayan National Park”
situated ?
(A) Kullu

(B) Mandi

(C) Shimla

(D) Kangra
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Which is the largest Assembly Constituency
(Area wise) of Himachal :

(A) Kinnaur

{B) Mandi

(C) Lahaul Spiti

(D) Dharmshala

Which is the first official newspaper of
Government of Himachal Pradesh?

(A) Jansata

(B) Girira)

{C) Himsatta

(D) Divya Himachal

Which is the state bird of Himachal ?
{A) “Monal”

iBY “Titar”

¢C) “Jujurana”

iD) “Koyal”

Mani Mahesh is sitnated in which district?
Ay Kinnaur

{B) Chamba

1Ty Kullu

1D Lahaul Spiti

Who was the founder of “Maratha Empire” ?
(A) Shivaji

(B) Maharana Pratap

(C) Teg Bahadur

(D) Tantya Tope

Who Said “Swaraj is My Birthright™?
(A) Lokmanya Bal Ganga Dhar Tilak
(B) Sardar Bhagat Singh

(C) Subhash Chander Bose

(D) Sukhdev
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46.
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Fundamental Rights are described in which part
of Indian Constitution?

(A) Part 4 Article 12-40

(B) Part 5 Article 12-30

(C) Part 6 Article 12-36

(D) Part 3 Article 12-35

When “Beti Bachao, Beti Padao” Scheme was
launched ? '

(A) 2013

(B) 2015

(C) 2016

(D) 2017

Who Discovered “X-Rays™ ;
(A) Enderson

(B) Einsten

(C) Goldsten

(D) Rontjen

“Tulvul Pariyojna” is in which state of India?
(A) Himachal

(B) Punjab

(C) Jammu and Kashmir

(D) Haryana

When were First General Election held?
(A) 1947
(B) 1949
(C) 1950
(D) 1952

~ What is the age of Adult Franchise in India?

(A) 16 (Sixteen)

(B) 18 (Eighteen)
(C) 21 (Twenty one)
(D) 25 (Twenty Five)
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To which game Sakshi Malik is associated with:
(A} Polo

(B) Wrestling

(C) Jude

(D} Shooting

Who assassinated General Dyer :
(A) Bhagat Singh

(B) Udham Singh

(€) Subhash Chander Bose

(D) Nathu Ram Godse

When “Jalianwala Bag” Massacre took place:
(A) 13 April 1918
(B) 13 April 1919
(C) 13 April 1920
(D) 13 April 1921

Who is the supreme Commander of Indian Army?
{A) President

(B) Prime Minister

(C) Vice President

(D) Chief Minister

What is the tenure of Member of Rajya Sabha?
(A) Four years A
(B) Five years

(C) Six years

(D) Seven years

To which category “Dronacharva Award” is
given? -

{A) Movie Producer

(B) Writer

{C) Sports Coaches

(D) Literature
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55.

56.
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59.

Who is not the integral part of the Parliament?
(A) Vice-President

(B) President

(C) Lok Sabha

(D) Rajya Sabha

Which grade was given to HP.U. by U.GC’s
NEK Grading in 20167

{A) A Grade

(B) A+ Grade

(C) B Grade

(D) B+ Grade

When was right to inforrnation was passed?
(A) 2002 '

(B) 2003

(C) 2004

(D) 2005

Where is the Indian Meteorological Department
located ? '

(A) New Dethi

(B) Nagpur

(C) Pune

(D) Jodhpur

When is “World Health Day” celebrated?
(A) 7th March

(B) 7thApril

(C) 7th May

(D) 7th June

What is the relation of Parshu Ram with Devi
Renuka?

(A) Daughter - Father

(B) Brother - Sister

(C) Son’- Mother |

(D) None of the above .
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SECTION-III : BOTANY AND ZOOLOGY
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Which physician, discovered the circulation of
blood?

(A) William Harvey

(B) Mende!}

(C) Newton

(D) Parker

If the diploid number of a flowering plant is 36.
What would be the chromosome number in its
endosperm?

(A) 36

(B) 18

(C) 54

(D) 12

The Reproductive part of a plant is -
(A) Leaf

{B) Stem

(C) Root

(D) Flower

Many pulses of daily use belong to one of the
families of :

(A) Solanaceae

(B) F abaceaé

(C) Lilaceae

(D) Poaceae

Mature ovary forms the :
(A) Seed |
(B) Stamen

(C) Pistil

(D) Fruat
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(A) HIFIbIE ®C

(B) HFIdIC wCH

- (C) SEoIE BT

(D) SEPIC ¥H

66.
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(A) =T
(B) T
(©) =@
(D) g

67.

58.
a1 ferera &
(A) Nrew
(B) U=
(C) vl
(D) ¥vgs

69. EoNal gRT 7T wad W A 9§ 9

el S<ATS HT A B

(A) 91,

(B) B

(C) warwH

(D) gy

70, B-W gF JURT T B WPHlis B W

TS B 87

(A) Fferes

(B) e

(C) &

(D) sTg
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66.

67.

68.

69.

70.

A conjoint and open vascular bundle will be
observed in the transverse section of :

(A) Monocot root

(B) Monocot stem

(C) Dicot root

(D) Dicot stem -

Which of the following is food of vultures?
(A) Qrass

(B) Spiders

(C) Rice

(D) DeadAnimals ..

When we peel the skin of a potatotuber, we
remove:

(A) Periderm

(B) Epidermis ~

(C) Cuticle

(D) Sapwood

Micro-organisms act upon the dead plants to
produce :

(A) Sand

(B) Wood

(C) Mushroom

(D) Humus -
Which tree is the Natural purifier of water?
(A) Eucalyptus
(B) Sheesam
(C) Mango

/

(D) Banyan tree
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72.

73.

74.

75.

76.

TP g Wied W e w9 o e RR BN
Ry |

(A) a1 RR

(B) U& BRR

(C) &7 R

(D) T BR &

T FT T AXE T S
(A) 3T

(B) I

(C) BIe) affg

(D) 9t 3

T PIRET Y wed 27
(A) TARTERE

(B) a9

(C) Tz

(D) d7gw

=1 4 ¥ aafde mod o9 o 27
(A) ichfthar
(B) dRMHEB
(C) Srrfper
(D) o= fivw

T AR d P B N 7@ 9w W 87
(A) Sl
(B) #faRrm
(C) wrfsag
(D) drerf¥rm

AT WA BT eRw e @ frdd wR
BT 87 R

(A) CFC ‘

(B) CO

(C) PAN

(D) g9 ¥4 P13 =&

1703 TET (Medical)

71.

74.

75.

76.

A pure protein should normally have :
(A) Two ends

(B) Oneend
(C) Three ends
(D) Noends *

Fat 1s completely digesied in the :
(A) Stomach

(B) Mouth

(C) Small Intestine -

(D) Large Intestine

What are called ‘Kitchen of cells’?
(A) Chloroplast

(B) Golgi Bodies

(C) Ribosomes

(D) Vacuoles

Which one is a true fish ?
(A) Jellyfish -

(B) Star fish

(C) Dogfish

(D) Silver fish

Middle lamella mainly contains
(A) Ca '

(B) Mg -

(C) Na

(D) K

Ozone depletion is occuring due to :
(A) CFC/

{B) CO

(C) PAN

(D) 7 None of the above
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78.

79.

81.

TY WIEATY] BT A qarel ot e # g @
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(A) ATEEIIEET

(B) grima

(C) vEfaen

(D) FerereTy
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H WY ST WSO BT |G B
(A) gt

(B) ®oRal

(C) wirgeT

(D) B

B /TS AT & i @
(A) SRFAES

(B) tRfeTarss

(C) HrmeErss

(D) veers

mmﬁwmwm%‘?
(A) 30 F=HI-

(B) 7 e

(C) 21 #M =

(D) 2 YT

IRT ¥ 99 997 &vaRay Red &
(A) Prerpar (Tf¥em—gren
(B) 7=g Hagr

{C) IrogRemT

(D) oI
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7.

79.

&0.

1.

Bacteria which reduce nitrates in soil to
nifrogen are ;

(A) Nitrosomonas ¢

(B) Pseudomonas

(C) Rhizobium

(D) Clostridium

Which of the following are most suitable
indicators of SO, pollution in environment?
(A) Algae

(B) Fungi

(C) Lichen

(D) Conifers

Bone related with skull is :

(A) Coracoid -

(B) Arvtenoid

(C) Pterygoid

(D) Atlas ' P

World forest day is celebrated on -
(A) 30th January

(B) 7thApril

(C) 21st March -

(D) 2nd July

Largest herbarium of India is located in :.
(A) Kolkata (West Bengal)

(B) Madhya Pradesh ~

(C) Rajasthan |

(D) Gujarat
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82.

83.

84.

85.

86.

fFrefeRaa % < fssy "gaet @71 29 B Wy &
ST ST 8

(A) &g

(B) 4o TH0 1o

(C) R .

(D) S

A AR (FEw) B SR e @
fbas SHa © Fwor YT By 27

(A) BT eTgeitevgs

(B) uemiEd

(C) g _

(D) e amer

W HTA B RN W 3 A wmew g 84,

2Rt &

(A) 20cm
(B) 25.cm
(C) 10cm
(D) 30cm

(A) AMP
(B) ADP

(C) ATP

(D) NADPH

Frefofas 3§ & @ w1 e dav & frar
A Heg owar &

(A) vaa X

(B) 7 weroy

(C) Y& qyeTor

(D) T ey
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82.

85.

6.

Which of the following is known as “Country of
wind?

(A) Cuba *

(B) US.A.

(C) Iran

(D) Denmark

During heavy exercise we get cramps in legs due
to accumulation of :

(A) CO, ™

(B) Alcohol

(C) Water -

(D) Lactic Acid

The minimum distance of distinct vision for a
person is :

(A) 20 cm

(B) 25¢cm =

(C) 10 cm

(D) 30 cm

Energy currency of the cell is : ' .
(A) AMP

(B) ADP

(C) ATP -

(D) NADPH

Which of the following test helps in diagnosis of |
cancer?

(A) X-ray

{B) Urine Test

(C) Blood Test

(D) ’Biopsy test -~
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(A) Ut

(B) ffea

(C) <rgfer

(D) renrs e

87.
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(A) FHfer

(B) USRI

(C) UHfBarT

(D) Ui

88.
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(A) |eTT BIABTY

(B) uRafda @i

(C) HATE BIABTG

(D) 78 I PR T8

89.

90. Tﬁmm(ama)&m%? |

(A)maﬁwmm‘mﬁ?ﬁwﬁé
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(D) Sirreh f @ =rger ot el 1 @ <M
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87,

88.

89.

90.

Which of the following enzymes are found in
saliva? '

(A) Pepsin

{B) Tripsin

(C) Ptyabn

(D) Chymotrypsin

Sugar controlling hormone in blood is known
as:

(A) Insulin

(B) Thyroxine

(C) Pancreas

(D) Estrogen

An antibiotic resistance gené in a vector usuaily
helps in the selection of :
(A) Competent cells

(B) Transformed cells
(C) Recombinant cells
(D) None of the above

w7

Goldenrice is : )
(A) A variety of rice grown along the yellow
river in China
3) Long stored rice having yellow colour tint .
(C) A transgenic rice having gene for
B-carotene . — '
(D) Wild variety of rice with yellow coloured

grains

The removal of weeds from the field is called

(A) Sowing
(B) Harvesting
(C) Weeding .~

(D) Irrigation
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92,

94.

95.

96.

(A) JHIN
(B) ¥=m

(C) IRT=TesYr
(D) 75T

. Al B A9 § e e 9 e

T ST 87
(A) B
(B) D
() C
(D) A

frfafad § ¥ w1 wEE AT SRt
EIRT &1 g+ -

(A) TEOHIOTI0

(B) T

(C) TR

(D) THOTO

HH—F TF WiiH U O AfDe T G Y

Tl & | 39 U BT g9 HE e &
(A) HeCHe Telelo

(B) Hiaefias

(C) =g

(D) dreirei=i

Giferar &1 SR 2 -
(A) fourg

(B) HreraieT

(C) Yrarea

(D) Faw
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92.

94.

95,

96.

Embryo-sacistoovule ............... is to another :
(A) Stamen
(B) Filament
(C) Pollengrain -

(DY Androecium

Cod liver oil is rich in which vitamin?
(A) B~

(B) b

) C

(D) A

Which of the following hormones is not secreted
by human placenta?

(A) HCG -~

(B) Estrogens

(C) Progestrone

(D) LH '

Occasionally, a single gene may express more
than one effect. The Phenomenon is called :
(A} Multiple Allelism

(B) Mosaicism

(C) Pleiotropy -~

(D) Polygeny

What causes polio ?
(A) Virus -

(B) Protozoa

(C) Algae

(D) Fungus
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98.

99.

160.

101.

f=ifefaa 5 § smer @) veary -
(A) oifgar mr=aRT

(B) fwrdy

(C) TTw=<igaH

(D) gy

foe % o 3 ¥ feg g5 gy 27

(A) CO,

(B) O,

(C) N,

(D) H,
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(A) TrgardH '

(B) agwE

(C) BN
(D) AT
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(A) ¥ T

(B) A Yeriryg

(C) wirora
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98.

99.

100.

101,

Identify the odd one from the following :-

(A) Labiaminora

~ (B) Fimbriae ~

(C) Infundibulum
(D) Insthmus

Which gas causes global warming?
(A) CO, -

(B) O,

(C) N,

(D) H,

Which cell organelle is called ‘Suicidal Bag™? ‘
(A) Ribosome

(B) Lysosome -

(C) Chromosome .

(D) Centrosome

Name the animal cell, which changes its shape?
(A) White Blood cells

(B) RedBlood cells

(C) Plasma -

D) Platelet_s

Fossils are generally found in:
(A) Sedimentary Rocks

(B) Igneous Rocks .-

(C) Meta-morphic Rocks

(D) Any type of the Rocks
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106.
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(B) TEHfe
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(A) T qrow
(B) W&E 3@
(C) v g
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102,

103.

104,

106,

‘Smack’ is a drug obtained form the -

(A) Latex of Papaver Sominiferum

(B) Leaves of Cannabis Sativa
(C) Flowers of Dhatura

(D) Fruits of Ery Thraxvilcoca -

What is the name of male hormone?
{A) Estrogen |

(B) Adrenalin

(C) Testosterone

(D) Thyroxine

Who discovered cell?
(A) Robeft Brown
{B) Robert Cook |
{C) Robert Hook
(D) Robert James

. The genetically modified (G.M) brinjal in India

has been developed for :
(A) Draught Resistance
(B) Insect Resistance
(C) Enhancing Shelflife
(D) Enhancing mineral

The covering of Lung is :
{A) Trachea

(B) Pleura

(C) Nephrons

(D) None of these
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(A) HelTTd TR
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108.
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(A) If=erm
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110.
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(A) LAA.

(B) HISCIPIEIT

(C) Shawei

(D) il
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107.

-

108.

Which one is the most important role of

-

micro-organism for the well being of humans?

. (A) Sewage Treatment

(B) Production of Methane
(C) Production of SO,

{D) Conversion of Milk to curd

The Residue left after methane production from

. cattle dung is :

109.

110.

111.

-

23

(A} Burnt
(B) Burried in land fills
(C) Used as manure

(D) Usedin civil construction

The quantity of blood in human body is :
(A) 2-3 litres

(B) 0-1 litres

(C) 10-11 litres

(D) 5-61itres

Which part of the brain controls the heart ?
(A) Spinal Cord

(B) Medulla Oblongata

(C) Neuron

(D) None of these

To increase sugar production in sugar-canes ,
they are sprayed with - |

(A) LAA. |

(B) Cytokinin

(C) Gibberellin

(D) Ethylene |
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112,

113.

114,

115.

i16.

One of the following is not a common disorder
associated with digestive system :

{A) Tetanus

{B) Diarrhoea

(C) Jaundice

(D) Dysentery

Asexual reproduction takes place through
budding in -

(A) Amocba

(B) Yeast

(C) Plasmodium

(D) Mosquito

Carriers of genes are :
{A) Chromosomes
(B) Platelets

(C) Plasma

(1) None of these

The PH of human urine is approximately :
(A) 6.5

(B) 7

(C) 6

(D) 7.5

Knee joints and elbow joints are examples of :
(A) Saddle joint

(B) Ball and socket joint

(C) Pivotjoint

(D) Hingejoint
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120.

TE W B9 T T TR G 87
(A) FERITIRE I
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(C) UTblige 3l
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(C) T _
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117.

Which acid is present in curd?
(A) Hydrochloric acid

(B) Lactic acid

(C) Ascorbicacid

(D) Nitric acid

An area in the brain which is associated with
strong emotions is :

(A) Cerebral corlex

(B) Cerebellum

(C) Limbic system

(D) Medulla

In cockroaches air enters the body through :
(A) Lungs
(B) Gills

2, (C) Spiracles

(D) Skin

120. Cortisol is secreted from :

(A) Pancreas
(B) Thyroid
(C) Adrenal
(D) Thymus
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121, THEHT IR 97 &
(A) R aneR |99 2
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(D) =g & G A 2

122, 39% ¥ {59 g alor dEg 27
(A) TR
(B) TS
(C) FMIsT
(D) RSN

123. 33 O fFasl saaHie 99y alfe S
(A) n-ve
(B) -
(C) smganie=
(D) gt e

124. FCC (Face Centred Cubic) U & Tdel # fbar
AT SR g &7
(A) 52.4%
(B) 68%
(©) 60.4%
(D) 74%
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(A) 60 Fe
(B) 80 fiFe
(C) 40 e
(D) 30 fiyre
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121. Iso-electronic ions are those which have :

(A) Same size

"
- (B} Same electronic configuration -
(C) Same nuclear size

(D) Same no. of neutron

122. Which is called super halogen ?
—~ (A) Fluqﬁne
{B) Chlorine
(C) Bromine
(ID) lodine

123, Which of following has highest boiling point?
(A} n-Pentane
~ (B} n-butane
{C} Isopentene

tD) Neopentane

.24, Volume occupied in FCC (Face Centred Cubic)
arrangement of atom s :

< (A} 532.4%

(B) 68%
{Ct 60.4%
(D1 T4%

123, Half life period of first order reaction is 20
minutes. How long will it take 10 75%
completion?

1A} 60 minutes
iB) 80 minutes
iCy 40 )minutes

'Y 30 minutes
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126.

127.

129,
(A) —0OH

130.
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Frefafae 4 § 39 D O H,80,F T
fapen W H, e A7

(A) Na

(B) Hg . -
(C) Fe

(D) Sn

(A) Fe,0,
(B) NaAlF,
(C) ALO,2H,0

(D) ZnCO,

(A) AFERS
(B) SgaTH®
(C) wEdR®
(D) THIER®

AT BT YBTAD AHE

=R I W AT STEIH-STEadd il
87

(A) CH,+20,—> CO;#2H,0

(B) Fe,t3C—» 2Fe+3CO

(C) 3CuO+2NH, —> 3Cu+N,+3HLO

. (D) Ca(OH);#¥2NH,COOH—> Ca(CH;CO0),+ 2.0

.27

126.

127.

128.

129.

130.

Which among the following metals will not
react with H,S0, to liberate H)?

(A) Na |

(B) Hg

(C) Fe

(D) Sn

The chemical formula of “Cryolite™ is :
(A) Fe,O, '

(B) NaAlF,

(C) ALO,2H,0

(D) ZnCO,

Phosphorus acid 1s :
(A) Monobasic
(B) Dibasic® =
(C) Tribasic

(D} Amphoterie

Functional group of ketone is

(A) —CH
O
® _fon
O —
© _I_- “
®
~-C-0OH

Which of the following reaction is not
oxidation-reduction reaction?

(A) CH+20,—> CO;72H,0

(B) Fe3C—» 2Fet3CO

(C) 3CuO+2NH,—> 3Cu+N,+3 H,O

(D) Ca(OH),+2NH,COOH—> Ca(CH,CO0),+2H0
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135,

(B) 2
(€) 3
(D) 4
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(A) TRERT ey
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(A) ®raTeT

(B) Ffrm

(C) smardi

(D) 53 & »1E =8
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131. The value of Van’t Hoff fa(_:tor for dilute

solution of KZSO4 in water is

(A) 1
(B) 2
(C) 3
~(D) 4

132. Monomer of Nylon-6 is :
(A) Adipic acid
(B) Vinyl chloride
{0 Caprolactum;/.»
(D} Ethene

135, The acid present in tomato is -

-~ (A} Tartaric acid
-
{B) Oxalic acid~"
1C} Methanoic acid

(D) Acetic acid

LFN]
4a

. Amphoteric oxide is :
(A) Na,0
(B) ALO™"
(C) CaO

- (D) K,0

135. Isotope of which element is used for the

treatment of cancer?
(A) Cobalt
- (B) Uranium
(C) Todine
{D} None of these
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TEEBIS BT FAUIRG HHAT &

(A) CH,0,
(B) CH,0,
" (C) CH
(D) CH,0

133.

139.

140.

. UieE @ 9 [BES gRT @ T8 7

(A} =0 o &HES
(B) 20 Tesw

(C) o dsfas

(D) ISTBIE .
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(A)y g3
(B) ¥
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(A) a1

(B) AL

(C) FRT

(D) ST

AT frasT aws 27
(A) Pb
(B) Hg
(C) Cu
(D) Zn
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136.

137.

Empirical formula of glucose is :
(Ay CH,,0,

(B) C H,O,

(C) CH

(D) CH,0

Proton was discovered by :
(A) J.J. Thomson
(B) E.Goldstein”

. {C) James Chadwick

138

139.

140.

e

29

(D) Rutherferd

. Which of following is acrosol? |
_{A) Smoke .7~
(B) Milk
{C) Cheese
. {D) Butter

Which of following non metal exist in liquid state
at normal temperature? |

{A) Mercury

(B) Iodine

(C) Chlorine

(D) Bromine T

Galena is an ore of ?
(A) Pb

(B) Hg

(C) Cu

(D) Zn
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141. 379 @1 STEAR B & e frw el oy
FUITT T 87
(A) e
(B) Teollird
(C) goeRe
(D) Erfes

2. PR 9N F 5 ST 1 FAT BT
(A) HCI
(B) HNO,.
(C) H,80,
(D) H,CO,
143. ¥ (SIT) T XRTARYE [ g 87
(A) CuS0,5H,0
(B) CaSO,21,0
(C) FeSO,THLO
(D) Fe,0,xH,0

RIS Yo T & SN 0 A1gT 21 2
(A) WeRia" & Teaadi sl @ oao
(B) Wifsuv & Seaawim arrell & aaor
(C) 71T waR W1 § gy =18 =y

(D) SUGaRT ¥l

144.

) BT H R T Y R e Sy
¥

(A) 0°C

(B) 4°C

(C) 273K

(D) 100°C

145.

1703 TET (Medical)
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141.

142,

145.

Which type of medicines are used for treating in-
digestion? |

(A) Antibiotic

(B) Analgesic .

(C) Antacid--

(D) Antiseptic

Which acid is used in car Battery?
(Ay HCI

(B) HNO,

(C) H,80,

(D) H,CO,

. What 1s formula of Rust?

(A) CuSO, SH,O
(B) CaSO,2H,0

(C) FeSO,TH,O
(D) Fe,0,xH,0 v

. Chemically soapS are

(A) Potassium salt of long ehain fatty acids
(B) Sodium salt of long chain fatty acids
(C) They cannot be usz in hard-water

(D) Allofabove._

Water has rnaximum densirv az -
{A) 0°C |

(B) 4°C-—"

(&Y 273 K

(D) 100°C
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146. f&=r8 Uoplgar =T ©7

(A) sfear oy
(B) ified
(C) Ut S &
(D) O e

PR ) T b geaE e T 2, 8 2%
(A) &g

(B) Emg

(C) gy

(D) SWad @15 9 7o

147.

148. H,S0, & STeRITHR0T 3aven @ar 87
(A) +5 |

(B) +6‘

(&) 18

(D) +4

149. Tt E @1 v w1 &= 87
(A) STPIBRI | '

(B) bRTERIe

(C) oA

(D) ¥&ra

150. CO, T ¥ & ur) # orcafdes A3 § Yo -
W A7 a8 R T g W @ v fhwa
7 | g 77

(A) B wEHe

(B) ixras argamEie

(C) BT FRES

(D) PR Praie
1703 TET (Medical)
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_ 146. Denatured Alcohol s :

__(A) Excellent drink
(B) Harmless
{C) Like wéter’:}i
(D) Unfit for drinking -

147. Anelement has electronic configuration 2, 8, 2,
© then 1t should bq e
_ (A) Metal ™~
A(B) Non Metal
(C), Metalloid
(D) None of these |

148. Oxidation state of O in HZSO5 is:
(A) +5
~(B) t6
(€ +3
(D) +4

149. What is the c‘hemigll name of Vitamin E 7
(A) Tocoferol ~
(B) Calcifero]
(C) Thiamine
- _AD) Retinol

150. CO, when passed in excess, in lime water turns
colourless again because of :
(A) Calcium Carbonatekf“/
—1B) Calcium bicarbonate
(C) Calcium Chioride

(DY Copper Carbonate

SET-C
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